Hi. Can someone please help me with the following problem?

“Two parallel wires, each carrying a current of I = 1.8 A, are shown in the figure below, where d = 7.1 cm. The current in wire 1 is in the opposite direction of wire 2. Find the direction and magnitude of the net magnetic field at points A, B, and C.”


I’m not at all sure what to do with B, but I thought that the following was the way to find the magnitude of A:

B = (mu(0))(1.5A) / 2 pi r = (4pi x 10^-7)(1.8A) / (2pi)(.071) = 5.07 x 10^-6

But that’s not the right answer. 

Please help. Thank you.

